T

2

12A TOP 2nd 3rd u16
B @A 7% B5RA TS 215 x| wE £18 sz || pshg na 218 x| Esp mE 2B sz
T PLAD ] 11.00] ZUZR 11.00] ZYUZRE 11.00] PR
1| L |henaru 111:00 | EREZ | AR 13.30 | JBIE | AR 13.30 | JEHE | A 13.30 | JBIE | AR
85 ) fan=]-4 : HLEE ) fal=]4
_ TRM
2|8 OFF 930 | wop (placks OFF OFF
3| B |p*kE"E OFF OFF OFF OFF
4|k |BREE 1330 TR | TECO 13:30| TR |TECO OFF OFF
5|k |mxER 13:00/ TR | TECO 13:00/ TR |TECO OFF OFF
6 | K|kEE 1330 TR | 4= 13:30| TR |I+%pZF 15:00| TR | iHe= 15:00( TR [IF4F
7% 16:15) TR | [+%F 16:15) TR [IH4x 16:30 TR | Lk—+ 17:30| TR |I+4p=
PL® PL 8:30 | TRM %_EGE 9:00 = |G
8|t 1300 | BEXBEYor—5 [ 1300 o FPII-35 BEE | myn-| Oll1a. crm | Yy | O
% B 13:00| PLIGIE | " 18 1300/ PLAHE | 519
TRM TRM TRM TRM
9|8 13:00 [EKRFIFR| [T4°F 1000 | .o orp (PRt 13:00 | &#BK |#@AG 13:00 | &#EX BIEKG
W ° BB =1
N 717 o
10| A OFF OFF OFF OFF
1]k 16:15) TR | (T4= 16:15| TR |I+4F 16:15| TR | tre= 16:15 TR [F4F
12|k 16:15 TR | TECO 16:15 TR [TECO 16:15| TR | 3oz 16:15 TR [IF40F
13| K 16:15) TR | (+4= 16:15| TR |I+%pF 16:30 TR | Lk—+ 1730 TR [l
14| & 16:15) TR | (+4%F 16:15) TR [z 16:30 TR | Lk—+ 17:30| TR |I+4p=
N TRM TRM TRM |
ERNEEHAR : : : e = X
15| £ % 14:00 o TECO 14:00 o TECO 14:30 =i #mEc| O[ 1400 TR [0z
16| B 1000 °M | 4oz 13:30 | 4T |0 [ 1330 | s | e 13:30 | #IE3%; |1+40%
17| A |[BABH4R OFF OFF OFF OFF
= TRM TRM
1\, ZFREX . . . .
18| N |[BANZREK4R 14:30 AL [pack3 14:00 AL [pack3 14:00 TR TECO 14:00 TR TECO
19| 7K 1B NERK 4R 14:00 TR TECO 14:00 TR TECO 14:00 TR T4 14:00 TR [pack3
20 K|EAZB#AE | 1400| TR | [H4oz 1400| TR |z 1430 | TR |LAKR—F 1530 | TR |14z
21| £ |#rgst 1330 TR | 4= 13:30| TR |I+%pZF 15:00| TR |[I+%F 15:00( TR [(H4F
i 10:00 (5 qmpip| [THZ
22|t emmeme _ 14:00 PFRARHE [T 14:00 PRAHF (T 0E
14:30 | FCRR | Z@gK | O
5 . TRM . TRM
23| B |xe@sHE 9:30 | oW | IFroE 1330 | e (Pl OFF PM | TRM |I+%=
24| B |{&RE#A OFF OFF TR OFF
25| X [2#AEEZGE0 || 9:30 TR | (%= 9:30 TR |IT4E faF 11:00| TR [[F4oF
26| K |2 #H#EG0O | 13:00 FlFHM (Fo= HE1—XF MAF 830 | TR |[lF%=
27| K (2 #1£EGO RF O HRI1—XF MEF BEFERTE @]
28| & |2 HHEEGO 1RF @) HFE1—RF MeF B TE =1
29| = RF (@) BRI1—XF OFF BE R 1E (@)
30| 8 OFF OFF OFF OFF
31| A OFF OFF OFF OFF




